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APTITUDE TEST FOR DIPLOMA HOLDERS IN ENGINEERING
arfiritrent W fewmrentiat & fao srfwsta whamr

Which of the following has highest
knocking ?

(A) Branched chain hydrocarbons
(B) Branched chain olefins

(C) Aromatic hydrocarbons

(D) Straight chain olefins

The ground state term symbol for an
electronic state is governed by

(A) Heisenberg’s principle

(B) Hund’srule

(C) Aufbau’s principle

(D) Pauli exclusion principle

A solid is made of two elements X
and Z. The atoms of Z are in CCP
arrangement and those of X occupy
all the tetrahedral site. What is the
formula of the compound ?

(A) XZ (B) Xz,

(C) X,z (D) X,Z,

Both oxygen and sulfur belongs to the

same group. H,O is liquid while H,S

IS a gas because

(A) Molecular weight of water is
more.

(B) Electronegativity of sulfur is
less.

(C) H,Sisaweak acid.

(D) None of these.

When 4,U%* is bombarded with one
neutron, fission occurs and the
products are three neutrons, 36Kr94
and

A) 56|3a141 (B) 54Xe139
©) 5GBa139 (D) 58,142

If the ratio of the areas of two squares
is 25:36, then the ratio of their
perimeters is
(A) 5:6
(©) 6:5

(B) 25:36
(D) 36:25
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If z, and z, are two complex
numbers, then

(A lzy+zy| = |z4] + |z,

(B) lz#7y| > |z4] + |z,

(©C) lzy*+zyl <lzg| + |2z,

(D) |21+22| = |21| + |22|

If o and P are the roots of equation
6x° — 5x + 1 = 0, then the value of
tan~to + tan™f is:

(A 0 (B) w/4

) 1 (D) =/2
Maximum value of sin X — cos x =

(A) 2 (B) 1

) o (D) none of these

In two events P (A U B) = 5/6, P(Z\) =

5/6 and P(B) = 2/3, then A and B are
(A) independent

(B) mutually exclusive

(C) mutually exhaustive

(D) dependent

In a triangle ABC, ZB = 60°, then
(A) (a-b)?>=c’-ab

(B) (b-c)’=a’-hc

(C) (c-a)P=b’-ac

(D) a?+b?+c?=2b’-ac

The radius of the incircle of a triangle
whose sides are 18, 24 and 30 cm is

(A) 2cm (B) 4cm

(C) 6cm (D) 9cm

Plants have while animals lack it.
(A) Starch (B) Cellulose
(C) Protein (D) Fat
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It 7, 9 2, 7 W G, A
(A)  [z%2Zy 2 [z + |2,
(B) [z%2y > |z4| + [z,
(C) [zytzy <z + 2|

(D) |zy*zy| = [z4] + |2,
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Nitrogen is fixed in ecosystems in

ways stated below. Which one of the

statements below is false ?

(A) By cyanobacteria

(B) By electrical discharges in the
atmosphere

(C) By industrially
fertilizer

(D) By denitrification

synthesised

Which company is nick named as big
blue ?

(A) TCS (B) 1BM

(C) Microsoft (D) Satyam

Machine language is also known as
(A) Low level language

(B) Assembly language

(C) High level language

(D) Source code

One kilobyte has how many bytes ?
(A) 1000 (B) 1001
(C) 100 (D) 1024

Which of the following performs
modulation and demodulation ?

(A) Satellite (B) Switch
(C) Optical Fiber (D) Modem

Which of the following is the first
web based e-mail services ?

(A)  Gmail (B) Yahoo Mail
(C) Hotmail (D) Rediffmail

A section of code to which control is
transferred when a processor is
interrupted is called
(A) M
© ) 1P

The radian of a number system

(A) isvariable

(B) has nothing to do with digit
position value

(C) equals the number of its distinct
counting digits

(D) is always an even number

(B) CVC
(D) MDR
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puts one user into direct
conversation with the computer
through keyboard.

(A) Real time processing
(B) Interactive computer
(C) Batch processing
(D) None of these

How many bit code is used by Murray
Code for teleprinter machines ?

(A) 4 B) 5
) 9 (D) 25

IS a system programming
language for microcomputers in the
Intel family.
(A) PL/C
(C) PL/M

(B) PL/CT
(D) PLA

The output of a NAND gate is 0,
(A) if both inputs are 0

(B) ifoneinputis 0and otheris1
(C) if both inputs are 1

(D) either if both inputs are 1 or if
one of the inputs is 1 and the
other is 0

TCXO is preferred over LC oscillator
because

(A) TCXO is more stable

(B) TCXO gives more power
(C) TCXO is linear

(D) None of the above

Four resistors of equal value, when
connected in series across a supply of
V volts dissipate 25 W. If the same
resistors are now connected in
parallel across the same supply, the
power dissipated would be

(A) 25W (B) 100W
(C) 200W (D) 400W
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A sinusoidal current wave of amplitude
100 amperes is passed successively
through (i) moving iron ammeter and
(if) moving coil ammeter, their readings
will respectively be

(A) 100A:70.7 A

(B) 100A;0A

(C) 70.7A;0A

(D) 0A;70.7A

An RLC series circuit will become a
purely resistive circuit when the
frequency of the applied voltage to
the circuit is

__ 1 __ 1
AW f=5 ® =

© 1= © 1= 5

Fleming’s left and right hand rules are

used for

(A) DC motor and AC generator

(B) DC generator and AC motor

(C) DC motor and AC motor

(D) both rules are same, any one
can be used

A voltmeter essentially consists of

(A) a high resistance, in series with
a galvanometer

(B) alow resistance, in series with a
galvanometer

(C) a high resistance, in parallel
with a galvanometer

(D) alow resistance, in parallel with
a galvanometer

The power factor of a purely
inductive circuit is
(A) Lagging (B) Leading

(C) Zerolagging (D) Unity

If thermo emf is given by E = at + bt?,
then the neutral temperature is
(A) -a/2b (B) 2bla
(©) -ab (D) -bla

The capacitance of a metallic sphere
is 1 pF, then its radius is nearly

(A) 111m (B) 10m

(C) 9km (D) 1l.licm
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Two charges are at a distance d apart.
If a copper plate of thickness d/2 is
kept between them, the effective
forces will be

(A) F/2 B) 0

(C) 2F (D) 2F

A cylindrical tube closed at one end
contains air. It produces the
fundamental note of frequency 512 Hz.
If the tube is opened at both ends, the
fundamental frequency that can be
excited is

(A) 256 Hz
(C) 1024 Hz

(B) 512 Hz
(D) 128 Hz

The threshold wavelength  for
photoelectrons emission from a
material is 5200 A. Photoelectrons
will be emitted when this material is
illuminated with  monochromatic
radiation from a

(A) 1 W infrared lamp

(B) 1 W ultraviolet lamp

(C) 500 W infrared lamp

(D) 1000 W infrared lamp

A transistor can be used as an

amplifier when

(A) emitter is forward biased and
collector is reverse biased

(B) both emitter and collector are
reverse biased

(C) both emitter and collector are
forward biased

(D) none of the above

A capacitor and a resistor are
connected in series to a sine wave
generator. The frequency is set so that
the capacitive reactance is equal to
the resistance and, thus, an equal
amount of voltage appears across
each component. If the frequency is
increased

(A) Vg >V,

(B) V¢>Vg

(C) Vg=V¢

(D) VgandV.=0
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The cut-in voltage of a silicon diode
is approximately

(A) 0.7 volt

(B) 0.3volt

(C) 1.4volt

(D) None of the above

The purpose of a governer in a DG set
is to regulate
(A) speed

(C) power

(B) voltage
(D) current

A 60 Hz 2 pole alternator should run at
(A) 3000 rpm (B) 3600 rpm
(C) 1500 rpm (D) 1800 rpm.

Plate separation of a parallel plate air
capacitor is reduced keeping the
voltage constant. The energy stored in
the capacitor shall

(A) increase

(B) decrease

(C) remain constant

(D) remain zero

The synchronous motor can be used
as a capacitor by

(A) increasing excitation

(B) decreasing excitation

(C) increasing speed

(D) decreasing speed

The transformer connection which
has gained considerable popularity to
serve 3—phase equipment and single
phase lighting load is

(A) Star/Star (B) Delta/Delta
(C) Delta/Star (D) Star/Delta

A ball is thrown vertically upwards
from the ground with velocity 15 m/s
and rebounds from the ground with
one-third of its striking velocity. The
ratio of its greatest heights before and
after striking the ground is equal to
(A) 4:1 (B) 9:1

(C) 5:1 (D) 3:1
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A particle of mass 0.2 kg ties at the
end of a spring is being rotated along
a vertical circle of radius 0.5 m at
critical speed of 5 m/s. The tension T
in the string at the highest point of its
path is

(A) 8.04N
(C) 10N

(B) 11.96N
(D) 1.96N

The figure below shows a planar
mechanism with single degree of
freedom. The instantaneous center for
the given configuration is located at

Ng P

v

(A) N
C) M

B) P
(D) O

The simplest resultant of a spatial
parallel force system is always a

(A) wrench

(B) force

(C) moment

(D) force and moment

In all engineering problems a frame

of reference at rest with respect to the

earth is taken as an inertial frame. The

assumption is valid because

(A) The centrifugal force on the
earth and the force of attraction
between the earth and the sun
balance each other.

(B) The acceleration and angular
velocity of the earth is so small

that the error caused is
negligible.
(C) The error due to the

acceleration of earth is taken
care of by the experimental
calculation of the value of g.

(D) The earth does not have any
acceleration
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A force acts in the plane of a paper

from top to bottom. An anticlockwise

moment is applied on it. The line of

action of the force will shift parallel

to itself to get the simplest resultant

(A) Above the plane of the paper

(B) Under the plane of the paper

(C) To the right of the given line of
action of force in the plane

(D) To the left of the given line of
action of force in the same
plane

If a body moving in a horizontal line
with a certain velocity starts ejecting
mass downwards at a constant rate,
the horizontal velocity of the body will
(A) Remain unchanged

(B) Start decreasing at a constant rate
(C) Start increasing at a constant rate
(D) Start increasing at an increasing

rate

A mild steel rod 20 mm diameter is
subjected to an axial pull of 50 kN.
Determine the tensile stress induced
in the rod and the elongation if
the unloaded length is 5 m. E = 210
GN/m2.

(A) 3.789
(C) 37.89

(B) 4.789
(D) 47.89

In order to double the period of a
simple pendulum, the length of the
string should be

(A) halved

(B) doubled

(C) quadrupled

(D) none of these

One end of the helical spring is fixed
while the other end carries the load of
‘W’ which moves with simple
harmonic motion. The frequency is

given by
(B) (1/2mn/(9/5)

(A)  2m\(9/)
©) 2m©lg) (D) (2mp\(5/9)
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A center of gravity of T section 100 mm
x 150 mm x 50 mm from its bottom is
(A) 50 mm (B) 75 mm

(C) 87.5mm (D) 125 mm

A body is subjected to direct tensile
stress of 300 MPa in one plane
accompanied by a simple shear stress
of 200 MPa. The maximum normal
stress will be

(A) -100 MPa
(C) 300 MPa

(B) 250 MPa
(D) 400 MPa

A machine having an efficiency

greater than 50% is known as

(A) Reversible

(B) Non-reversible

(C) Neither reversible nor
reversible

(D)

Ideal
The force applied on a body of mass
100 kg to produce an acceleration of
5 m/s? is
(A) 20N
(B) 100N
(C) 500N
(D) None of these

The shrinkage allowance for cast iron
pattern is

(A) 10 mm/m
(C) 20 mm/m

non-

(B) 16 mm/m
(D) 26 mm/m

Loam sand is a mixture of

(A) 50% sand + 50% clay
(B) 70% sand + 30% clay
(C) 90% sand + 10% clay
(D) 30% sand + 70% clay

The welding process used in joining
mild steel shanks to high speed drills is

(A) spot welding

(B) seam welding

(C) flash butt welding
(D) upset butt welding
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56.

S7.

58.

59.

60.

61.

62.

100 mm x 150 mm x 50 mm o fsdt T

I T ST qA H TTocd 5 &
(A) 50 mm (B) 75mm
(C) 87.5mm (D) 125 mm

TH 9% U dd W 300 MPa & uerel
T — et & 9rEg-| 200 MPa &
AR A& Uidaer % EE ¢ |

ARIHTH HHRT HidqereT &I
(A) -100 MPa  (B) 250 MPa
(C) 300MPa (D) 400 MPa

50% ¥ Iy I T Sl HEIA
FHEATH &

(A) SRAUTE

(B) 3rIwHATIE

(C) ¥ SRHTNA T & SR

(D) aTeSt

100 kg S&HH i TS a%] W 5 m/s2 &
TROT 3 A & fI man 7o 5 §
(A) 20N

(B) 100N

(C) 500N

(D) T ¥ s el

goTat ofig o Yo & foT 3THd e &
(A) 10 mm/m (B) 16 mm/m
(©) 20 mm/m (D) 26 mm/m

A o1 U Toeor &

(A) 50% aTe] + 50% Tkt et =
(B) 70% aTe] + 30% Tkt et =
(C) 90% aTe] + 10% Terep=t et =
(D) 30% aTe] + 70% Tereh=t et =

S=9 g fgol & g5 LA Tk e &
foTT vgereT AeeT wishan &

(A) g dee

(B) dteA aeed

(C) THIOT TFHT doeH

(D) eI TR doed

P-6



63.

64.

65.

66.

67.

68.

P-6

What is the dimensional formula of
thermal conductivity ?

1 - 3 _

A) MLT 0  (B) MLT 0
2 32 2 2

©) MLT®° (D) MLT o

If a body is raised from the surface of
the earth upto height R, what is the
change in potential energy ?

(A) mgR (B) (3/2) mgR
(C) (mgR)/2 (D) (mgR)/4

A piston of cross-section area A is
fitted in cylinder in which gas of
volume V at pressure P is enclosed.
Gas obeys Boyle’s law, what is
angular  frequency if piston is
displaced slightly ?

(A) (Ag/V) (B) 2V(Ag/V)
(C) V(@AglV) (D) (3Ag/V)

X-rays are used in determining the

molecular structure of crystal because

its

(A) energy is high

(B) itcan penetrate

(C) its wavelength is comparable to
interatomic distance

(D) its frequency is low

The refractive index of glass and
water with respect to air are 3/2 and
4/3 respectively. The refractive index
of glass with respect to water will be
(A) 8/9

(B) 9/8

(C) 7/6

(D) None of these

A particle of mass m has momentum
p. Its kinetic energy will be

(A) p’m (B) p?2m

©) p’m (D) pm

63.

64.

65.

66.

67.

68.
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AT Aretehal o foe fordia g = g 2

(A) M LT o (B) M LT 0"
(C) MLT 0 (D) M L°T 0
It feopelt e i geslt i Tee ¥ R S

% 3ISET AW, o fava e H O
TRE BT ?
(A) mgR
(C) (mgR)/2

(B) (3/2) mgR
(D) (mgR)/4

IPIFHE &7 A & TH fed o

fgoimeY § o S € S P s W

V e H T g9 gl § | 19 S

W # ueE wAl g, AR A @)

gl | ot fear Swoar ol

Mgt T B 2

(A) (Ag/V) (B) 2V(Ag/V)

(C) V(@AglV) (D) (3Ag/V)

TSheeeT i 2MuTfaeh WO o FERoT %

T TeR—Y &1 ST TR ST €, i

(A) HH o1 A Bl € |

(B) IE WA Y TheAl & |

(C) TTH TR A IRAITF g
T T ST Tl & |

(D) =g g e Bt & |

A & G B B T T BT TSR

AW 3/2 T 4/3E | UFT &% ey § Hg

T TSI e BT 2

(A) 89

(B) 9/8

(C 7/6

(D) =T 9§ ®E TRl

TH TEEAE M % BT H T p T

! TSt Tt feherT gt ?

(A) p?m (B) p/2m

(C) p*m (D) pm




69.

70.

71.

72.

73.

74,

75.

It is possible to hear beats from the
two vibrating sources of frequencies
(A) 1000 Hz and 1500 Hz

(B) 400 Hz and 500 Hz

(C) 100 Hz and 150 Hz

(D) 20Hzand 25 Hz

If mass of the earth is M, and radius

R.,, then the ratio between
acceleration due to gravity ‘g’ and

gravitational constant ‘G’ is

(A) R%/M, (B) M.JR%

(€) MR? (D) MR,

SS316 is an alloy of

(A) Iron (B) Silver

(C) Zinc (D) Scandium
is used to make transistors.

(A) Sn (B) Sb

(C) si (D) Mg

A sample of rock from moon contains
equal number of atoms of uranium

and lead. T, for U = 4.5 x 10° years.
The age of the rock would be

(A) 2.25 x 10° years

(B) 13.5x 10° years

(C) 9.0 x 10° years

(D) 4.5 x 10° years

How many isomers are possible for

(A) 3 B) 5

(O (D) 4

In  alumino  thermic  process,
aluminium acts as

(A) Oxidant

(B) Flux

(C) Reducing agent

(D) Solder
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69.

70.

71.

72.

73.

74.

75.

Mgl o I U Al & TWE
I AT |
(A) 1000 Hz W& 1500 Hz
(B) 400 Hz T 500 Hz
(C) 100 Hz W= 150 Hz
(D) 20Hzua 25 Hz

ats gedt F gemE M, & B R, &,
& & RN @RUT ‘g’ 3R TTocd i
‘G’ % Sl ST ST TeheT &1 2

(A) RZIM, (B) MJR?,

(C) M,R? (D) MR,
$S316 et s & ?

(A) i (B) =l

C) Fm= (D) wHrem
R - - 1 B = el L
fepar ST €

(A) Sn (B) Sb

(€) Si (D) Mg

TEH & U U FgH & A H e

T °E & AR B e T §
U =45 x 10° &t & fotw T,,, & | &
T Bl ST feheT & 2

(A) 2.25x10%a9

(B) 135x10%°aW

(C) 9.0x10%ad

(D) 4.5x10%a9

CyH, o % ToTT febert womerelt € & 2
(A) 3 (B) 5
€) 2 (D) 4

Telfet g uikar A, veatEy e
G T R AT € ?

(A) ST=EEE

(B) T

(C) 3raEs

(D) WX

P-6



